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	Physics 30 - Lesson 18B
Electric Power
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Electric cost
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savings = $14.43-$8.00=
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See diagram


	
	
e)
	
[image: checkmark]
[image: checkmark]
[image: checkmark]
[image: checkmark]
[image: checkmark]
[image: checkmark]







Dr. Ron Licht  [image: creativecommons] 	18B – 1	www.structuredindependentlearning.com

image2.png




image45.wmf
?

o

I

=


oleObject49.bin

image46.wmf
1

1

1

21

12

220

14.67

15

14.67

14.6714.67

29.3

o

o

V

V

IA

R

IIA

IIIAA

IA

===

W

==

=+=+

=


oleObject50.bin

image47.wmf
?

P

=


oleObject51.bin

image48.wmf
220(14.67)

3.226 per coil

PVIVA

PkW

==

=


oleObject52.bin

image49.wmf
per coil

2 coils

(160)(4.19)(1.0)670.4

23.2266.45

670.4

103.9

6.45

1.73min

Total

kJ

EmctkgCkJ

kgC

PkWkW

E

P

t

EkJ

ts

pkW

t

=D=°=

°

=´=

=

===

=


oleObject53.bin

image3.wmf
$0.079/

kWh

»


oleObject2.bin

oleObject3.bin

image4.wmf
1.5min6090

4.0

60

?

?

tss

IA

VV

P

E

=´=

=

=

=

=


oleObject4.bin

image5.wmf
4

4.0(60)240

24090

2.1610

PIVAVW

EPtWs

EJ

===

==´

=´


oleObject5.bin

oleObject6.bin

image6.wmf
12.5(240)

3.0

PIVAV

PkW

==

=


oleObject7.bin

image7.wmf
22

(12.5)(8.3)

1.2

PIRA

PkW

==W

=


oleObject8.bin

image8.wmf
(

)

2

2

120

60

240

V

V

PW

R

===

W


oleObject9.bin

image9.wmf
4

/


oleObject10.bin

image10.wmf
15(240)

3.6

PIVAV

PkW

==

=


oleObject11.bin

image11.wmf
800

6.67

120

P

IA

V

===


oleObject12.bin

image12.wmf
1180

9.83

120

P

IA

V

===


oleObject13.bin

image13.wmf
206.679.833.5

IAAAA

=--=


oleObject14.bin

oleObject15.bin

image14.wmf
1000

8.3

120

P

IA

V

===


oleObject16.bin

image15.wmf
120

14.4

8.3

V

R

I

===W


oleObject17.bin

image16.wmf
240

16.7

14.4

V

IA

R

===


oleObject18.bin

image17.wmf
22

16.7(14.4)

4.0something will melt

PIR

PkW

==

=®


oleObject19.bin

image18.wmf
3

/


oleObject20.bin

image19.wmf
135624

1

4

2190

(2.5)(120)

0.300

$0.042

cost0.3002190

cost$27.59

daysh

thyear

yearday

th

PIVAV

PkW

PtratekWh

kWh

=´´´

=

==

=

=´=´´

=


oleObject21.bin

image20.wmf
6

/


oleObject22.bin

image21.wmf
16

120

60

30min

min

1800

R

VV

s

t

ts

=W

=

=´

=


oleObject23.bin

image22.wmf
2

2

(120)(1800)

1.62

(16)

$0.030

cost1.62

cost$0.049

Vt

EPtVIt

R

Vs

EMJ

MJ

MJ

===

==

W

=´

=


oleObject24.bin

image23.wmf
6

/


oleObject25.bin

image24.wmf
160

15

30min0.50

$0.12/

R

IA

th

ratekWh

=W

=

==

=


oleObject26.bin

image25.wmf
2

2

(15)(160)(0.50)18.0

$0.12

cost18.0

cost$2.16

EPtVItIRt

EAhkWh

kWh

kWh

===

=W=

=´

=


oleObject27.bin

image26.wmf
9

/


oleObject28.bin

image27.wmf
100

2000

100(2000)

200

$0.040

cos200

cos$8.00

PW

th

EPtWh

EkWh

tkWh

kWh

t

=

=

==

=

=´

=


oleObject29.bin

image28.wmf
0.0328$0.22

cos2000

cos$14.43

L

th

hL

t

=´´

=


oleObject30.bin

image29.wmf
$6.43


oleObject31.bin

image30.wmf
8

/


oleObject32.bin

image31.wmf
Total

R


oleObject33.bin

image32.wmf
2141531

R

=W+W+W=W


oleObject34.bin

image33.wmf
111

3130

15.2

A

A

R

R

=+

WW

=W


oleObject35.bin

image34.wmf
15.25

20.2

T

T

R

R

=W+W

=W


oleObject36.bin

image35.wmf
6

120

20.2

36243600

3.1110

VV

R

t

ts

=

=W

=´´

=´


oleObject37.bin

image1.wmf
3

/


image36.wmf
22

6

9

(120)

(3.1110)

20.2

2.21102212.3

$0.13

cos2212.3$287.60

VV

EPTVItts

R

EJMJ

tMJ

MJ

====´

W

=´=

=´=


oleObject38.bin

image37.wmf
3

/


oleObject39.bin

image38.wmf
5

/


oleObject40.bin

oleObject41.bin

image39.wmf
2

/


oleObject42.bin

image40.wmf
6

/


oleObject1.bin

oleObject43.bin

image41.wmf
®


oleObject44.bin

oleObject45.bin

image42.wmf
o

I


oleObject46.bin

image43.wmf
1

15

I

W


oleObject47.bin

image44.wmf
2

15

I

W


oleObject48.bin

image50.png




